P02% A@IR(R) ~ Dfa6 B ()
Y @ R RER 2ou gois

"SRRI IR B ERITRR e
o3 B HEIR |
APER2T pEesc o2 mR ey -

o Ve

}ot)%ﬁ[)/ﬂ@;p((};) Brﬁ-d,v
O FIPTEPC Mirosof Up@tﬁ 1
8 L5 b v BE% 5,0 it Lap,
O FHEFIAET Brw k-5 G g
20003 6 R 60 ¢ F30orpbrR
Cled l—o}Bao[c ¥ (6 z’)[?) L'E:: t\°lb2f’7
VEXTA PXE33 MH-A (S35 10 0.
2BF L2 B HT L FRS, SeoltFr @Al
t T oI b (F L st b AN
LA LEE S PO S
FEFep e By g
(-9 7R %4F)
123 TASt 27 Eb Ay ) For gt
7 3" 7.

SR AR 2 Tk o N PRy
b7 ¥ 3.



3. B e 33t At R s FH g
(58 55T
4. €] L@ T7.

Bp07 - iF L R VEXTA PELLA £Ry ) (.
PXEIIMH-AEGRE, B EE ra2) Y5
B~
B V5410 155 T 'E 0BT (.
O FH G S B (Ftse
BIPYOFT PR = F 2=
L2 T $BPHRHAMS LI H T 2
enable s¢ FylF T2},
%m\?h%
___? ;er’F ‘P(V‘ ;F,:l;f\fa__f_.ﬁ“_ ¢ E%Z P(-’/zu__ )"(2
PP e (7))
Y5 S BEIS S B TR0
T2
= R Ry
CRipbu B34S 0B 8 prgpg- 5
TECE . B4 v o | b5 Twitipliye By (F
=y R e e B R B i
BRSNS



O FHAPINEIT BY == 72|
By 1t F TR TP E BT {0y W 2
TC-BoxH. rumbe92Be®flagsyy
TGTgT 2 7L FHERIAN 2
) MBE TeT Lt % . B1Wp
YA R A S i qut“&[.,‘d{i?fotp_

Tigrwipim cP# I

C-BoX ¢ = 3h(az}o-3) e 1 [ REp-5)
e R Lt

RaH a5 S b8 1F ¢ o

(Herp 25159 L~ )

FTol3red F‘FL‘EHM‘&
i i e

% AT ifzf"azu‘{“: #7 -
Felcrt=20ooMa e reFany
PHRBAHT M e P2 37
Cpoen) 327 e g oot TREATHOEL
o e R Ps 5
Toiticn PXEBMH-A 28 Gye gy B30
Frichsy sl 12D s B ip
F3510 e Bots +s PEba3zA
BHRET33. Feaxlos/pyanmt
Bp W= 330 LB o (F 2 BRR A% Tk C
et | IEHEEP) s B 3




O 272 F B9 i e
@%b & I be 7% 20 &6 e - ¥ 57 g
BB YR g S T R3S
[STop ] > dhuer, 35 -f2 Twtolica] o
BRIy ERemliflic Bitse87 (.
%‘Q?fﬁ p1# AT - e A TARTRE T po-
Vit B e o e (ﬁ AER B
FEE2two G v FRomy) o BIEE 52
>y bl IR A HBIR ) 24 C3EPR o B e
5R6) vy
T13-9 = f/—e.,,l_ gﬁ#%r.

2O = 1p® %Q,c%{?'?}"t g I::r-y"%c%f&;
16:0019° & Fite.
OREFRETE S 1380
MBS BYSPP PC (BL4B2pC) )
C ‘%BL-‘FB_.9TAFL£ P'} {,Ch\PtCh‘-ﬂ/\t C??)@@ﬂ

e 3919}70*0\,@
Ay 12A BRLGIT 34
AR

> B ]



AT B ljll ):(L‘t“‘/

Cw 503 3 B0 3RS
A2y | wrSxtoof
No 6-20p >3° x\qiif% PES(HTRD 1S
19 Fieobs AR

slet-bose 1 - 200 =400 (000 e 2797 )
p [ (c-f.ujbaok#l?fl?éﬁ) BTG
IV RS A P

ey
(5 (D) [461)
Y 07T 7 G @RI
SLZNETE 8 U o ey o oamasy €S EnEsadan
Ha(3R) 33,
3 ARG e 2R e 15
~3 25 e T Wy
Qo T BT 2t
RAAPTHE (Fsq proeBE o2
RepXpUpe, =)
©ry- 20 | FHE
@%ZEF(@@‘%.
20:/\.‘0'170‘5,0 =Pl e =P ('aoofmh}%ﬂy

£~ VGF - B 23w
Fgp e[ I -Porwe CER F



10

:7er952®[1[2®1- {-PxP

L2731 = 0R4 %} 9-21 50 %u9- 5483 7
— [ Microsoft Windows Net worl J —» (B 45
— [ Mde - cka%0d2c3b322 T — L MBS (ontroflas ]
EER . K372 00027 )5 fun ae> (B

-7.0 -6.0 -5.0 -4.0 -8.40 -8.35 -830 -8.25 -820 -8.15
Slit base [mm] Gonio base [mm]

O 265 (T B%esyysy
Cry-rve) lire
ffﬁf‘f“/\JO-GNA/o./[%a.[Q—IfZgé&(J
Mo b=2@n >1.3° 5?%/\2’?}%,
é"u”f”a\@ﬂtf@f”%f L s s
FEUNE S B0
B B3 - b ibhrwgan
FE L I e )y u b T,

““‘““7@95}@(1 @)»)-Fkﬂ




Encoder angle [deg.]

IIIIIIIIII||ll]lIl|ll]

006 004  -0.02 0.0 . W
I 1 1 1 I 1 1 L L 1 1 1 I 1 1 1 S 15000
20000 — ; — =
L0 e ' TR 2 10000 vt (o6
E 10000 — =iy — e Centpr: 18.21
51 5000 — | 5000
. | 0 Left: -8.44| ¥ |Right: -7.98
IIIII|!|II|I|III ||I|I!II|||||||!|I||||1|
-0.06 -0.04 -0.02 0.00 -10 -9 -8 -7 -6
Two theta [deg.] Gonio base [mm]
EnCOderangle[dcg'J llllllllilll llllllill 1
24.78 24.80 24.82 24.84
20000 —
1 I 11 1 I L L I 1 1 L I 11 I 15000
o 20000 — 0.0047 =
= 15000 — — |'C 10000 — :
210000 80eT 22
S 5000 o T 5000 —
: 5 Lefi: -8.53] ¥ |Right: -7.91
|]'||'|—IT|"I[TIIII| II|[||||I|III]IIII|I1II|I
24,78 24.80 24.82 24.84 -10 -9 -8 -7 -6
Two theta [deg.] Gonio base [mm]
FnCOderang]e[deg] lllllllllll]lllllllll 1
49.78 49 80 49 82 49 84 9 86
15000 —
- -
o 15000 — 0.0049 I é 10000 —
= 10000 — = 2
% e 0. 005] _ 1 5000 -
Lefi: -8.
0 ]]l[T_l_—l_[IIIITi'I 0 |||Ilt:llIlllfrlllilllllll
49.78 49.80 49.82 49.84 49.36 -10 -9 -8 -7 -6
Two theta [deg.] Gonio base [mm]
EI]COdC]‘aﬂglC[ng.] lIIIIIIIIIIIIIIIIIIiII 1
74.76 74.78 74.80 74.82 74.84
pea b beratev s b bvas bevuatunns i 300 —
300 — = ]
e . 00043 [ |S 200
& 200 1 = &
< 4 0.0044 B
S 100 - C 100 —
- B Left:
0 TTTC T[T I [ TT T[T R [ AT I TirT 0 Ill|Iel'il_|lllll!|||]|1|l||
74.76 74.78 74.80 74.82 74.84 -10 -9 -8 -7 -6
Two theta [deg.] Gonio base [mm]
Encoder angle [deg ] plaeelasgilanniliively
99.76 99.78 99.80 99.82
20000 —
Lo tavss bonnntanna beva o beraa b
20000 oo L |& 15000
& 15000 o : — |2 10000
g T - 5000
0 0 Right: -7.84
I]IIIIIII]II[II'II|l|l||||li|||l|IlEIIIl ||||||||I||rl||||||||||||
99.76 99.78 99.80 99.82 -10 -9 -8 -7 -6
Two theta [deg. ] Gonio base [mm]
EnCOderang]e[deg‘] lIIlIlIlIIIlIII]llIIIl]
124.82 12484 12486 124.88 20000 —
20000 | { I | I 1 1 L I { Bt N | I 1 1 L l 1 () 2 15000 =
3 15000 00047 oa — | 10000 -
S 10000 — 0.0048 3 -
S 5000 — y N 5000 —
5 5 Right: -7.87
IIIIIIlIIIIIIlII lll]llllllllII‘IIII[IIIIII
124.82 12484 12486 124.88 -10 -9 -8 -7 -6

Two theta [deg.]

Gonio base [mm]




CRH PRI FRGH

REA BT, 2RSS w
P36 E A TA2 b wn (3R LR
Neo . [ J—O‘)-{'-ﬁ“/

Mo % ooy

ORI HT AR

12

w;.

—-—

FRIBEL 27

20000 — = 20000 — =
<+ 15000 — — fn 15000 — =
g g
< 10000 — — |z 10000 o i

5000 — — 5000 — =
0 = 0
5
Thctd [dcg

20000 — — 20000 — i
2 15000 — 5 15000 — -
=] 16971S = L
= 10000 — 0.8224 = 10000

5000 — — 5000 — =
= g _| 1 I T
120
lheta dug
|

10000 — B 12000 —_ =
o 20007 [ |2 8000 =
S 6000 0.1317 B E 0.1216

2000 — = -
0 r T 0
1.5
lh:ta deg] Theta [deg]

OWCEAN 0.9°c i v EAN 1 Fou B
O 2B 3T R oSy g gt BIHR 7 8 C
T ANk ot o Loghoolc #19-2008 ) 34 727



13

-d?LMBSM(zls_qo}—B.F@

O S FRH P (NIST spreto) Pus
ce § AR BB 2
A 27183 10 winis T | we
To X2 @0+ i;l‘j?(fiﬁ Lgm-)
=8 (> /\:l-lf}ﬁ ’%%—z“i‘j"(ﬁétﬂ% 2407
)8 A~ T BY 2 EB e

Scon H P T 2R AT
\LY/
=>[NHS>@(1Y®>—€@FE 4.px

:;W‘QJ Yo (Vo 3 - H <

NNt T EY o2 (BN . cThye)

D (e f Loghosk #1 - 208 )

E0 )2 )0 Fy WL b mEa
27w L (0w o (we aF+F
TESCH @O Fa2 fun (33

S AL B N 1 (a.o/"}\f..,)o)
T L/ v BE

X306 2t es BT



